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Quiz 07 Format

e 30 minutes at the start of class.

e Onpaper - bring a pencil!

e Question Types: f 7
o Multiple choice, T/F, select all that apply, fill in the bIank,w.



Exercise Check-In Question

e Similar format to the exercise question on the last quiz.
e ReviewEx11 (AVL trees)

e Questions?



On Quiz o%

e Red-Black Trees

e Hashing
o suguhkel



Red-Black Trees
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Red-Black Trees Time Complexity

Insert: O(logN)

Delete: O(logN)



Red-Black Trees vs AVL Trees

e Red-Black Trees can have a height difference factor of 2.
o RBTsrequire less rotations than AVLTs on average

o Therefore marginally more efficient



Hashing
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Hashing

e Can have collisions.
o To lower the chance of collisions, we can resize our hash tables.

o Depends on the load factor (# items in table / # spots in table)
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is taken, we add to the front of the list.

o Get:O(1)

o Put?O(1) average; ©O(N) w.c. for resize.

o Remove: O(1)
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o Remove: O(1)



